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For he is liable for that bit - 297 RNMD RNIANR 29mRp 92

Overview

7297 772 R 27 attempted to explain why he is ' "7 271 by 77v2a 191 (according
to the 7"n that 710 71 A% 10 VWL 71w°),! because the ' '7 21 is for the first nick
of the v>nw.2 Our MooIN challenges this assumption.

nvoINn asks:
- NP XONON 29NNNY 19 PPN 30010 NVINYN 10T 113 N1dN

It is astounding! Since the end of the nwnw disqualifies, he should not be liable

for the first minor nick -
— 90 1Y NIINNN NVINYY NIV 9INRT INNID 190N

Even according to the one who maintains 719 71 7902 qRIAWS "W -
= NVINYA DIV NI YIINT ININNM 79997 (3,05 97 PIINT /2 P9 YNPIYNT

As it seems in the second 75 of 19917 noon, where X771 "1 asked from that 7awn,

which stated, that if there was a disqualifying factor in the 7w of the m217x 779, the

person who was involved in this 7v’nw and he touched garments during the v nw -
- 595732 ANNVN PR NIV INXY 12 579D BN P2

Whether he touched them before the v nw became 77208, or whether he touched

the 0732 after the v nw became 579199, he is not 2733 R1uwvM, however -
- 395732 ANNVN PR YYD INNY 707)2 ANNPVN NIV ONP NANTNA

Regarding the sprinkling of the a7, if the 7t touched the a°732 before the 717
became 77900, he is 2732 R#un, however if he touched 0°732 after the 7°°17 became
79102, he is not 2732 X»WR. This concludes the cited mwn. X1 ' asked -

! See the previous *X7 1"7 '0n TIE footnote # 1, for a description of the two opinions, whether 1 72°nnn nwnw? qaw»
710, or whether 71029 XoX q0RWY PX.
2 >wx 11 shortly rejects this idea, stating that X272 13°¥2 1913 172w,
3 On account that it is 777¥2 1971, so once it becomes X372 MK he is not UMW the owner’s ox.
4 We cite the 71wn in 7" 7"9 779, which is brought in the X723 there; P20191 732 1RV A0 T¥I T2ANK 7792 PPIOYA 95
D732 RNLA 77109 DTI? TNRTA2 ,0°722 ARALN AR 77700 NRY "2 772709 7P 1°2 DY Nwa D109 712 YR .NINR TIRONA NN
D°722 IRMLA AR 77109 RS, The rule is that anyone who is involved in the process of making the ashes from a 779
IR (starting from the v nw), he is 0°732 &nwn as long he is involved. However, there is a difference between funw
and the 717 (sprinkling the o7 of the 715 towards the 937).
3 The beginning of the 7vnw was done properly, however before the end of the v nw, a 7100 occurred; the bMw cannot
be 0 7132 Rnwn regardless when he touched them (during the v nw), whether before the 7109 or after the 2105.
¢ Since the VN is a 72109 WMWY it is not considered that he was involved in the 7178 77D.
7 At this point everything by the 715 was done properly, and therefore since he is involved in the 717 of the 779, he is
[akiypik valalal
8 Since at this point the 779 is disqualified, so the 712 is not 7792 powW and therefore not 0>732 XnwA.

1

TosfsoIlnEnglish.com



"2 "7 '0m R,2Y P2 .7"02

= ANVINYA ) NDA% NPND 19 NVINYD NIV NHININ N
And if we maintain 719 71 79 0 qUIARY uwS, we should also differentiate by

SR whether it was 79091w 07 (where he is 0732 Xnun), or 77091w NX (where he is not Xnwn

o°732), just as we differentiated by 717 -
- 99025 NVINYA NYPYPNIT 115 NIANRD NVINYA AYPYPN 2IYUNY

And X217 answered, ‘you are discussing a disqualification in 7w nw; since the

auanw was invalidated at the end -
= 11555 10850 NVINY IND NIPIVNIT Y1910 RNJMI INDIIN

So retroactively it became apparent that initially it was never a nwnw at all’.

This concludes the answer of X27. M20IN continues with his question!? -
- DM A P HVINYN G DYPYINI NPYT INGT DI 13529 YA NPV 1NN

And the n"=9 explained that this p%p of the v nw (by the 77X 719) is not
necessarily that it became disqualified because of something which happened to

the muinmw itself, for instance ‘stabbing and excising’ —
= BAYINY BRywa NYYY NINDN 1 Y NIPIPNI 179N NON

But even if it became 779p%pn1 on account that he did work during the 7w m, the
rule remains the same that he is not 0°732 Xawvn at all (even before the 7p%p), for the law regarding
avnvwY -

- NANDN 21092 Y917 NNNINA DIV N2 YIINT NIIT

Is similar to the law when a 9102 occurred during the 78777, which is discussing a
case of being disqualified on account of doing work during the 7xm1 —

9 If we maintain 71027 R?X 70w PR, so obviously since the 7w nw was 72108 before it was completed, so there never
was a mnw at all, therefore he is not 0°732 Xnvn, regardless when he touched them. However, if we maintain mw°
M0 7Y 71NN AVNYY so the M N process began immediately with the first nick, from the point until it became 72109,
the vmw should be a>732 Xnun since he is 7797 NV NW2 POW (the same as it is 7°172).
19 There is no partial v nw (as opposed to 7171, where it needed to be sprinkled seven times, each sprinkle stands on
its own; for instance, if the 711 could not complete all the seven n117, one can complete it after him beginning where
the first one left off).
' 'We see from this that if the entire 7’ nw was not done properly, there is no v nW at all, so how can the X n3 here
say, in the case where he was 77192 1°217 LW, that he is still ' '72 271 for the first nick, but since it became 771v2 7910
during the v nw and was 7093, there is no TN at all, as we say there regarding the 7197 nonw.
12 Seemingly we can answer this question; when do we say that if L nw 79p5pn), it is X091 SR73X that it never was a
mwnw, that is only if the 9109 was in the v nw itself (in that case we say it is considered as if there never was even a
beginning of the nunw process). However, if there was no 7109 in the mwnw itself, but rather the ?09 arose from
something outside the T nw proper, like in our case where the M nw itself was done properly, however there is an
outside 9109 of 771w 1710, perhaps in such a case we do not say 973 R°77 70N IR? KIPPWAT RN?°7 ROXK, but rather we
can say that the first nick is a 7w and therefore he is 21 for M "7. MO rejects this solution.
13 One is not permitted to do any work while involved in the 70 nw or the 7177 of the 7m7X 775,
14 We see from this that the Xn%"n X5»X is not only if v nwa A2P%pN1, but the X7 AW RW K27 X027 *X73X applies even if
the 7109 was outside the v nw (like 7o8%1) and the same should apply by us, that it is not a 722 nvnw even if the 9109
was on account of 7712 7791,
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mooIn proves that 7w nw 9109 there is even by 19871 9109 (not only AV NWI 7132 109) -
= 157991 D1993 NNVINYA 33 1Y% 1Y NYPN NIN 991 IND INY

For if it is not so that the 9105 is in every instance, but rather only by a 712 %105
nvnws (but by an outside 2109, the beginning of the v nw would be valid [and we
would not say 121 R0 *R23°K]), X7 ' should have still asked, ‘let us differentiate

by swonw as well in a case of 728%% 9105’ -
= 90 1) NDINNN NVINYY NIV 9INRT INNID 1D2ART ONN YIWN NIOHN

It is evident from the X723 there that even according to the 7'» that oMb 7w

M0 T 7T9MNR, nevertheless -
- NVNY NVINYN NIINN PN YNNI HIDI YNV

If a ®5 occurred in the middle of the nv nw, even the beginning of the unw is
not considered a valid @I, so how can the X3 here say, ‘2’1 RNMD XITAR 200 02

MDOIN answers:
959 16959 DY 191 INYA RIN 199 INWPNRY 2813 991 ) NINT 9199 U
And one can say that indeed the X773 here could have also asked this question, in

order to refute the answer, however the X1 effectively refutes this answer, without
resorting to MO0IN question.

Summary
Even if we maintain 710 731 72°nnn awnwh mws, nevertheless if during the course of

the v nw it was 091 for any reason it is considered as if there never was any nunw
at all (even before the 7105 occurred).

Thinking it over
Does this same problem arise if we maintain 71027 X?X 70 nw? X (that we also say
590 RO VAW IR?T YI9n? XN X7X)? And if not, why not?!’

15 There should be a difference that if he touched 0°732 before the 73891 9109 they are ®nv (for since it was (merely) a
7oK1 109 it does not invalidate the ¥791% v nw). Since the X i did not ask this, it is obvious that it makes no
difference what type of 7109 there was (whether v nwn 7132 or from something else), in all cases the v nw is invalid
X7p°wn; there is no 1Y Nw, so how can the X3 here attempt to say that he is 'm '7 21 for the beginning of the nvnw,
since we have proven that it is not considered a v nw at all, even from the first nick?!
16 See footnote # 2.
17 See X"wmmn.
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